( O (Al ) &8 CH i )
x= - o
oo 2 AHQIHI (0l & ) CES=E A=) e R D-60-0-6
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A2 B
Al 3,147,381,320 | Al 3,147,381,320 | Al 2,825,674,620 | A Al 321,706,700
=1 =Hl 2,081,297,160 | =4I 2,081,297,160 | =4 1,905,296, 130 |= Hl = Hl 176,001,030
= Al &I 456,410,800 | Al &= HI 456,410,800 | Al = HI 391,818,900 |Al =4I =] 64,591,900
Al T Hl 609,673,360 | Al = 2 HI 609,673,360 | Al = <2 I 528,559,590 | Al = HI Al T Hl 81,113,770
Al 147,600,000 | Al 147,600, 000 | Al 146,180,350 | Al Al 1,419,650
A =t 73,800,000 |= I 73,800,000 | =4I 73,090,170 |= 4l =H| 709,830
- Al & HI Al & Hl Al & HI Al & Hl Al &4l
Al < Hl 73,800,000 [Al = HI 73,800,000 [Al = HI 73,090,180 [Al = HI Al < Hl 709,820
Al 147,600,000 | A 147,600,000 | Al 146,180,350 | Al Al 1,419,650
AR Y-S U - = Hl 73,800,000 [=Hl 73,800,000 | = HI 73,090,170 |=HI = Hl 709,830
< Al & bl Al &= I Al & Bl Al EHI Al & bl
AbBI MBI A) Al Hl 73,800,000 [Al =+ HI 73,800,000 [Al = <2 HI 73,090, 180 [Al = = HI Al <] 709,820
R Al 147,600,000 | Al 147,600, 000 | Al 146,180,350 | Al Al 1,419,650
o= =t 73,800,000 |=Hl 73,800,000 | =l 73,090,170 |= 4l =H| 709,830
ZpoH A S Al & HI Al & Hl Al & HI Al & Hl Al & HI
Al < Hl 73,800,000 |Al == HI 73,800,000 | Al 2 =4I 73,090,180 | Al & -2 HI Al < Hl 709,820
Al 2,172,876,000 | Al 2,172,876,000 | Al 1,861,377,000 | Al Al 311,499,000
A = Hl 1,610,567,000 | = Hl 1,610,567,000 | =4I 1,435,275,800 |= Hl =Hl 175,291,200
- Al & HI 407,405,800 | Al = HI 407,405,800 [ Al &= HI 342,813,900 | Al &= HI Al & HI 64,591,900
Al Hl 154,903,200 | Al = < HI 154,903,200 | Al & =4I 83,287,300 [Al = HI Al < dl 71,615,900
A AAIZS Al 42,270,000 | Al 42,270,000 | Hl 42,270,000 | Al Al
= Do 2l g oA Al = Hl 10,567,000 | = Hl 10,567,000 | = ] 10,567,000 | = Hl =Hl
252 e Al &I 9,509,000 |Al & HI 9,509,000 [Al = HI 9,509,000 [Al & HI =]
Al T H] 22,194,000 |Al = =4I 22,194,000 [ Al =2 <2 HI 22,194,000 [Al = 5 HI Al < Hl
HF X A Al 42,270,000 | Al 42,270,000 | Al 42,270,000 | Al Al
- =t 10,567,000 |= HI 10,567,000 [=dl 10,567,000 [=Hl =4l
225 2| Al & HI 9,509,000 |Al &= HI 9,509, 000 [ Al &= HI 9,509,000 [Al &= HI Al & HI
Al <l 22,194,000 |Al 2 -2 HI 22,194,000 | Al 2 =4I 22,194,000 | Al 2 -2 HI Al <l
Al 1,875,000, 000 | Al 1,875,000, 000 | Al 1,780,886,000 | Al Al 94,114,000
= Do 205 OF A AL = Hl 1,500,000, 000 | = tl 1,500,000, 000 | =4I 1,424,708,800 |= Hl =4l 75,291,200
Al &I 331,250,000 | Al &= HI 331,250,000 | Al &= HI 321,838,600 |Al &= HI Al &I 9,411,400
Al < H] 43,750,000 [Al 2 HI 43,750,000 [Al 2 HI 34,338,600 |Al 2 7 HI Al < H| 9,411,400
O T A 2t Bt Al 29,650,000 |H| 29,650,000 | Al 16,865,000 | Al Al 12,785,000
= Hl 22,400,000 |= bl 22,400,000 | =4l 11,904,380 |=tl = Hl 10,495,620
NCEEES Al & HI 4,450,000 [Al = HI 4,450,000 [Al = HI 2,529,750 |Al &£ HI Al &I 1,920,250
Al < H| 2,800,000 [Al =4I 2,800,000 [ Al =+ HI 2,430,870 |Al = =1 HI Al < H| 369,130
O Tt A Bt Bt Al 1,845,350, 000 | Al 1,845,350, 000 | Al 1,764,021,000 | Al Al 81,329,000
=Hl 1,477,600,000 |= bl 1,477,600,000 |= tl 1,412,804,420 | = I =Hl 64,795,580
NCEEES =] 326,800,000 | Al = HI 326,800,000 | Al = HI 319,308,850 |Al =4I Al &I 7,491,150
< Al < H] 40,950,000 [Al 2 HI 40,950,000 [Al 2 HI 31,907,730 |Al 2 7 HI Al < H| 9,042,270
Al 200,000,000 | A 200,000, 000 | Al Al Al 200,000, 000
= Do 20 OF A AL = Hl 100,000,000 [= tI 100,000,000 |= dl =4l = Hl 100,000,000
Al &8I 50,000,000 [ Al & HI 50,000,000 [ Al &= HI Al &4 Al & HI 50,000,000
Al dl 50,000,000 [Al & HI 50,000,000 | Al 2 *HI Al 2 HI Al < dl 50,000,000




OH
& At (0fl o) EX24+YHD HHOD Ol U@ D-6)-0-©
H 200,000,000 | A 200,000,000 | A H H 200,000,000
=1l 100,000,000 |2 HI 100,000, 000 | 2 H] 2y =X 100,000,000
Al 1l 50,000,000 |Al £ HI 50,000,000 |Al E I Al E Al 1l 50,000,000
Al 22 50,000,000 [Al 2 2 HI 50,000,000 [Al 2 2 HI Al 2 7 H Al 22 50,000,000
Sy H 22,156,000 | A 22,156,000 | Al 22,156,000 |l H
=1l 24| 24| 2y 24|
AR HIO=2X™ =4 Al E I 6,646,800 | Al & HI 6,646,800 | Al = HI 6,646,800 | Al & HI Al E H
H) Al 22 H 15,509,200 | Al 2 2 H 15,509,200 | Al 2 2 H] 15,509,200 |Al 2 2 HI Al 22 H
H 22,156,000 |2 22,156,000 | Al 22,156,000 |2 H
=Nl 2y 24| =31 2
Al E H 6,646,800 | Al & 1l 6,646,800 | Al Z HI 6,646,800 | Al & HI Al S H
Al 22 15,509,200 |Al 2 2 H] 15,509,200 | Al 2 2 HI 15,509,200 |Al 2 2 H Al 22
oAt T H 33,450,000 |2 33,450,000 | Al 16,065,000 |2 H 17,385,000
=Nl 2y 24| 2y 2
RNENSA AZA SIEA 2K |AlZH| 10,000,000 |Al S HI 10,000,000 [Al E HI 4,819,500 |Al Z HI Al € H 5,180,500
g2 Al 22 23,450,000 |Al 2 2 HI 23,450,000 | Al 2 2 HI 11,245,500 |Al 2 22 H Al 22 12,204,500
H 33,450,000 |2l 33,450,000 | Al 16,065,000 |2 H 17,385,000
=2y 24| 2y 2 H 24|
Al E I 10,000,000 [Al S HI 10,000,000 [Al & HI 4,819,500 |Al E HI Al E I 5,180,500
Al 2 ] 23,450,000 |Al 2 4] 23,450,000 | Al 2 2 I 11,245,500 | Al 2 2 Al 2 HI 12,204,500
H 491,980,320 | A 491,980,320 | A 491,980,320 |2 H
N =1l 230,990, 160 |2 1l 230,990, 160 | = H 230,990, 160 | =2 H 24|
- Al E 9,000,000 [Al & 1] 9,000,000 | Al Z HI 9,000,000 | Al & HI Al E H
Al 22 251,990, 160 |Al 2 72 H] 251,990, 160 | Al 2 7 1] 251,990, 160 |Al = 2 H] Al 22
T H 461,980,320 | A 461,980,320 | I 461,980,320 |2 H
=1l 230,990, 160 | = HI 230,990, 160 | = H 230,990, 160 |2 =X
U Al Z 1l Al I Al Z I Al EH Al
Al 2 HI 230,990, 160 | Al 2 2 I 230,990, 160 | Al 2 22 H 230,990, 160 | Al 2 72 Al 2 HI
H 461,980,320 | A 461,980,320 | A 461,980,320 |2 H
=1l 230,990, 160 |2 Hl 230,990, 160 | = H 230,990, 160 | =2 HI 24|
LR H | AL Al Z I Al Sl Al EHI Al S H Al E I
Al 2 I 230,990, 160 | Al 2 7 I 230,990, 160 | Al =2 22 H 230,990, 160 | Al 2 2 Al 2 I
oAU T H 30,000,000 |2 30,000,000 | Al 30,000,000 |2 H
=1l 2y =N =1 24|
Stale m Al E H 9,000,000 [Al & I 9,000,000 | Al Z HI 9,000,000 | Al & HI Al S H
Al 22 H 21,000,000 |Al 2 I 21,000,000 [Al 2 2 I 21,000,000 [Al 2 HI Al 22
olote oo H 30,000,000 [H 30,000, 000 | Hl 30,000,000 [ H
=1l 24| 24| 2y 2y
Gep o Ny EN s Al 1l 9,000,000 [Al & ] 9,000,000 | Al Z HI 9,000,000 | Al & HI Al
Al 22 21,000,000 |Al 2 I 21,000,000 [Al 2 2 HI 21,000,000 [Al 2 2 4] Al 22
H 270,125,000 | A 270,125,000 | A 261,336,950 | H 8,788,050
=1l 114,100,000 |2 4| 114,100,000 | 2 ] 114,100,000 |2 HI =X
Al Z 33,525,000 | Al S H 33,525,000 | Al £ HI 33,525,000 |Al & 4 Al I
Al 2 ] 122,500,000 | Al 2 2 122,500,000 | Al 2 2 H 113,711,950 | Al 2 22 ] Al 2 HI 8,788,050
. H 242,625,000 | A 242,625,000 | A 241,786,950 | A H 838,050
=1l 114,100,000 | =2 1l 114,100,000 | =2 dl 114,100,000 | =2 H 24|
colzmo = omas(zs)NEY 28,525,000 | Al S H 28,525,000 | Al © HI 28,525,000 |Al & H Al S H
Al 22 100,000,000 | Al 2 7 H] 100,000,000 | Al 2 1] 99,161,950 |Al 2 I Al 22 838,050
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o8 212t 5 401-01 Al 242,625,000 | Al 242,625,000 | Al 241,786,950 | Al 838,050
= Hl 114,100,000 |= bl 114,100,000 |= tl 114,100,000 |= bl
SO =S o102 A AN M AL Al B Al & HI 28,525,000 [Al = HI 28,525,000 [ Al = HI 28,525,000 |Al =8I
Al < H| 100,000,000 [ Al =+ HI 100,000,000 | Al = 24| 99,161,950 |Al = = HI 838,050
HAUC Al 27,500,000 | A 27,500,000 | Al 19,550,000 [Al 7,950,000
HHY-BA-BAHO 2 =t =4l = Hl =4l
BHIEA AUTD A1 Al &8I 5,000,000 [ Al =4I 5,000,000 [ Al &= HI 5,000,000 [Al &= HI
Al < Hl 22,500,000 |Al =4I 22,500,000 [ Al = HI 14,550,000 |Al = 2 H] 7,950,000
_ Al 27,500,000 | Al 27,500,000 | Al 19,550,000 Al 7,950,000
NSFE 4235 401-01 Sy Sy e Sy
SHREZA HUC Y Al H| Al & HI 5,000,000 [ Al & HI 5,000,000 [ Al & HI 5,000,000 [Al = HI
Al < Hl 22,500,000 [Al =4I 22,500,000 [ Al = HI 14,550,000 |Al = 2 H] 7,950,000
Al 64,800,000 | Al 64,800,000 | Al 64,800,000 | Al
A = Hl 51,840,000 [=Hl 51,840,000 | = HI 51,840,000 |= bl
- Al &I 6,480,000 |Al &= HI 6,480,000 [Al &= HI 6,480,000 [Al & HI
Al T HI 6,480,000 |Al 2 < HI 6,480,000 [Al 2 HI 6,480,000 |Al 2 7 HI
Al 4,800,000 | Al 4,800,000 | Al 4,800,000 | Al
SR Do 2 A A A = Hl 3,840,000 |= HI 3,840,000 | =4I 3,840,000 [= 4l
Al &8I 480,000 [ Al &= HI 480,000 [ Al &= HI 480,000 | Al =4I
Al < Hl 480,000 [ Al =+ HI 480,000 [ Al = HI 480,000 |Al =+ HI
ool A 307-02 ﬂ 4,800,000 | A 4,800,000 | Al 4,800,000 | Al
=Hl 3,840,000 |=HI 3,840,000 | = HI 3,840,000 [=HI
w0121 0131 M gy DI A S N 480,000 [Al &= HI 480,000 [Al & HI 480,000 |Al & HI
Al < Hl 480,000 | Al = 2 HI 480,000 | Al =2 =2 HI 480,000 |Al = =4
2l AAAIES Al 60,000,000 | Al 60,000, 000 | Al 60,000,000 | Al
=R Do 2 A QA A = Hl 48,000,000 (= Hl 48,000,000 | = HI 48,000,000 | = HI
SHOCH ) = 4 Jf g Al & HI 6,000,000 |Al =4I 6,000,000 [ Al &= HI 6,000,000 [Al =4I
Al < Hl 6,000,000 [Al 2 - HI 6,000,000 |Al 2 =*HI 6,000,000 [Al 2~ HI
o |uE = 401-01 Al 60,000,000 | A 60,000, 000 | Al 60,000,000 | Al
= Hl 48,000,000 |=HI 48,000,000 | =l 48,000,000 | = HI
SHS T |2 A Al ] Al & HI 6,000,000 |Al =8I 6,000,000 [ Al &= HI 6,000,000 |Al =4I
Al < Hl 6,000,000 [Al 2+ HI 6,000,000 | Al & —*HI 6,000,000 [Al 2~ HI




